Archivo: Pértico 2D y DCL 04/12/2017 -

#1: [CaseMode := Sensitive, InputMode := Word]
#2: [X1 :=, Y1 :=, Y4 :=]

Equilibrio externo:

16-8
X1 + 20 + =0
2
#3: YL +Y4 -10-4=0
16-8 1
Y4.4 - 20.5 - 10-4.2 - .—8=0
2 3
143 263
#4: X1 :=-84, Y1 = - ——, Y4 = ——
3 3
#5: [X1 = -84 A Y1 = —-47.66666666 A Y4 = 87.66666666 ]

Diagramas de cuerpo 1ibre por cada elemento:

12:27:24 p.m.
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Archivo: Portico 2D y DCL 04/12/2017 - 12:27:24 p.m.

=
J

f X1
16 KN/m E:>

Y1l
#6: [x21 :=, y21 :=, m21 :=]
16 C
#7: = —
8 3
#8: c=6
[ 16 + 6
XI + x21 + ——.5 =0
2
#9: YL + y21 =0
16 + 6 5 16 + 2-6
- —5]—— | + m21 - x21-5 =0
| 2 3 16 + 6
785 143
#10: m2l = —, y21 = ——, x21 := 29
3 3
#11: [m21 = 261.6666666 A x21 = 29 A y21 = 47.66666666 ]
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Archivo: Portico 2D y DCL 04/12/2017 - 12:27:24 p.m.

#12: [x23 :=, y23 :=, m23 :=]

_ 6.3 -
x23 + =0
2

#13: y23 = 0

6-3 1

m3 - —.—.3 =0
| 2 3 i

#14: [x23 = -9, y23 := 0, m23 := 9]

Nudo 2:

#15: [x25 :=, y25 :=, m25 :=]

x25 + x21 + x23 = 0
#16: y25 + y21 + y23 = 0
m25 + m21 + m23 = 0
812 143
#17: m25 = - ——, x25 := -20, y25 = - ——
3 3
#18: [m25 = -270.6666666 A x25 = —-20 A y25 = -47.66666666 ]
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Archivo: Portico 2D y DCL 04/12/2017 - 12:27:24 p.m.

10 KN/m
X25 x52

N
"f’l.‘:‘ﬁ J mzs vSlﬁ:ﬁmsz

#19: [x52 :=, y52 :=, m52 :=]

x25 + x52 = 0
#20: y25 + y52 - 10-4 = 0

m25 + m52 + y52-4 - 10-4.2 = 0

263
#21: m52 = 0, x52 := 20, y52 = ——
3
#22: [m52 = 0 A x52 = 20 A y52 = 87.66666666 ]
X54

yo 4ﬁi>j

mb4

o
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Archivo: Portico 2D y DCL 04/12/2017 - 12:27:24 p.m.

#23: [x54 :=, y54 :=, m54 :=]
x54 = 0
#24: y54 + Y4 = 0

m54 — x54.2 = 0

263
#25: m54 = 0, x54 = 0, y54 = - ———
3
#26: [m54 = 0 A x54 = 0 A y54 = -87.66666666 ]

Chequeo en el nudo 5:

x54 + x52 = 20

#27: y54 + y52 = 0
m54 + m52 = 0
true
#28: true
true
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